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Al S| R A ) E SN | MR 4 A 4 A2 R BRIz R | BRAIE R e
L % % % % % % % % % %
e | Ak i B Al.4 A128.2 A14.2 N0.5 4.0 5.2 6.4 6.2 19.0 7.6
#H * 1.1 A290.4 7.9 0.3 A5.2 1.8 3.2 0.3 23.5 11.4

Fe) T+ 0.0 A\48.8 0.2 0.0 4.1 4.2 5.8 5.7 39.3 11.7
I Ik 2.7 A30.7 10.0 1.0 3.9 3.5 3.4 6.4 4.0 1.8
K M 1.6 A42.9 4.4 0.4 2.1 1.8 4.1 3.6 30.8 11.5

& | W 2 0.1 A10.2 0.3 0.0 5.3 5.4 4.0 3.5 34.7 8.1
& = 0.1 A\86.6 0.2 0.0 Ab5.4 2.8 3.4 4.1 20.8 8.4

Ei 1.7 A59.7 6.2 0.6 0.8 3.1 3.7 3.6 12.9 5.2

/3 Ik 1.5 1.8 6.4 0.5 5.5 4.0 7.4 11.3 24.7 9.6

4 i S A0.3 A19.2 A4.3 A0.1 6.4 4.9 4.2 5.6 23.4 10.3
g | M 5 0.3 A46.3 0.7 0.1 0.6 2.4 4.3 5.3 24.0 9.3
BE * 1.9 3.8 8.0 0.6 6.7 5.3 4.4 4.6 41.8 12.5
f5 Fen ] 1.0 A6.6 3.3 0.3 6.7 4.3 3.8 2.9 23.8 9.8
m LE 0.8 Al15.2 2.8 0.2 7.8 4.8 5.9 4.3 16.8 5.7
g 0.8 Al4.1 3.2 0.3 5.7 4.2 4.9 5.6 23.7 9.2

T 0.5 A23.7 3.6 0.2 7.0 4.8 5.2 5.1 32.2 13.6

w| o= 1.3 A57.3 9.6 0.4 6.1 3.3 3.3 4.3 15.1 6.8
i %= A3.9 AT743.3 A\83.9 AL1.0 N2.6 2.1 4.6 4.7 16.7 10.5
5o 0.3 A176.1 5.3 0.1 3.9 4.5 3.7 5.6 34.4 10.8
i 0.7 A84.8 5.6 0.2 5.0 3.3 3.6 4.4 15.8 7.4

N =1 0.3 6.5 1.1 0.1 5.6 4.8 5.1 4.3 36.0 12.3
T N0.2 N87.1 0.8 N0.1 2.0 7.5 6.0 6.5 15.1 5.5
& A0.2 A172.8 A3.0 AO0.1 1.9 3.7 3.7 A0.3 41.8 13.6

it AO0.1 AT8.4 A0.6 0.0 2.5 6.2 5.3 4.6 20.5 7.2
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153 ik NA3.0 A0.2 A40.9 A3.4 A1.0 AO0.1 5.9 5.0 4.5 4.1 2.97 44.7 12.1

% & fif] A8.9 0.3 A35.6 1.1 A3.6 0.1 4.4 5.4 6.9 5.7 2.49 35.1 12.3
Lo gl A13.1 1.6 A\85.6 10.5 A3.9 0.5 3.2 4.2 5.2 5.2 3.35 22.7 9.3
= = i A17.1 A0.2 Ave. ¥ Ave.3e 6.2 AO0.1 0.6 3.6 3.6 4.8 2.76 29.6 11.0
7 A12.0 1.2 A80.5 7.7 A3.8 0.4 3.4 4.5 5.3 5.2 3.15 26.0 9.9

A 7/7? X X X X X X X X X X X X X
Iy # A 0.0 A27.5 0.0 N0.7 0.0 5.0 4.9 6.4 5.7 2.30 39.0 15.1
S AN Pz A25.7 3.0 A102.1 12.0 AT.1 0.8 0.0 3.9 5.0 4.0 3.61 21.0 11.8
I JEE A 1.1 AT.1 4.5 N0.6 0.4 6.3 4.7 5.9 4.0 2.73 39.9 16.0
S B A3.2 0.4 A156.4 18.0 A0.9 0.1 4.7 3.9 3.8 3.8 3.59 40.4 34.7
oo it NL1.6 0.2 A16.6 2.1 N0.6 0.1 5.8 5.7 6.2 5.5 2.87 38.7 16.3

2 X X X X X X X X X X X X X

= Jifd N4.2 AN0.8 A\60.9 A11.5 AT AN0.3 5.7 3.5 3.8 4.7 2.41 36.9 12.9
S = Uit A1.9 Al.1 A16.0 AN9.3 N0.7 A0.4 9.4 5.9 5.6 5.8 2.62 29.4 14.4
fi] t A19.5 A2.0 A\84.3 A8.5 6.9 AN0.7 0.5 3.7 3.8 4.3 2.83 20.7 9.7

= = A4.3 0.5 A35.9 4.1 Al.4 0.2 4.4 3.8 3.6 4.6 2.96 32.6 17.0

& it H A18.5 0.1 A151.8 1.0 A5.9 0.0 1.0 3.5 2.9 5.2 3.11 30.6 18.9
G Al1l1.5 A0.5 A80.2 A3.5 A4.0 A0.2 3.0 3.8 3.6 4.9 2.88 29.1 15.1

78 = A0.2 AN0.7 A3.6 A12.9 A0.1 AN0.2 7.9 4.5 5.5 4.9 3.41 33.0 11.7
wo|EF ) Al.4 1.0 6.3 4.3 N0.6 0.4 4.9 4.0 4.4 4.1 2.42 24.0 9.4
g5 % 0.5 0.7 A2.7 3.3 A0.2 0.3 5.2 5.0 4.7 4.5 2.61 49.6 16.0
A = gl 0.9 1.5 11.6 19.5 0.3 0.5 9.9 6.5 8.0 10.0 3.07 7.5 4.8
G 0.4 1.3 3.4 11.6 0.1 0.4 8.8 5.5 6.1 7.6 2.94 13.6 6.4

R fif] A8.9 0.4 A40.3 2.0 A3.1 0.1 2.9 4.4 4.0 4.1 2.90 17.7 10.0
B ik (= A3.3 0.5 A24.9 3.8 A1.0 0.2 4.6 2.9 1.7 4.2 3.31 40.8 15.9
m [ E I 6.9 0.0 A20.2 0.0 A2.7 0.0 4.7 4.4 4.9 4.0 2.59 36.6 15.1
i A\8.2 0.4 A35.9 1.7 N2.8 0.1 3.3 4.2 3.7 4.1 2.90 22.0 11.1

fg ¥ Al1.5 A2.6 A32.2 A54.2 A0.5 A0.9 6.0 4.4 4.2 4.6 3.01 30.7 16.0
| X 9 6.6 1.4 N23.5 5.0 A2.1 0.4 5.4 4.7 2.3 4.2 3.21 28.5 11.8
=1 I A0.7 0.0 A1.6 0.0 N0.3 0.0 6.7 5.0 4.3 4.1 2.77 29.8 19.1
Al 1 = 0.3 3.3 1.1 11.3 0.1 1.2 8.0 4.9 3.9 4.5 2.74 21.1 12.7
Gl Al1.3 0.8 NAb.4 3.5 A0.4 0.3 6.8 4.7 3.8 4.4 2.89 26.4 14.5

4 ooy All.1 0.9 AB5.0 5.3 A3.5 0.3 4.2 3.9 4.4 4.7 3.20 18.6 8.6
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g | PR e | g RN PN R R L S L R iR R
L % % % % % % % % % % % %
L A R 8.5 3.0 0.4 0.4 0.2 0.2 3.6 6.5 1.3 2.5 0.8 0.3
#H * 6.3 3.4 0.3 0.3 0.1 0.0 2.9 12.8 2.1 1.0 0.4 0.2

Fe) T 6.9 4.7 0.2 0.5 0.1 0.0 1.0 4.0 2.9 1.2 0.7 0.4

il Ik 6.9 2.7 0.3 0.7 0.1 0.1 1.2 4.8 0.7 0.9 0.1 0.1
% M 5.9 3.8 0.3 0.1 0.1 0.0 2.5 4.7 4.2 0.6 0.1 0.1

& | W Z 6.4 3.2 0.3 0.3 0.1 0.0 1.1 2.4 1.7 1.3 0.8 0.2
& = 6.4 2.3 0.3 0.4 0.2 0.0 1.7 12.7 1.1 0.8 0.1 0.0

H 6.7 2.8 0.3 0.5 0.1 0.1 1.6 7.3 1.2 0.9 0.2 0.1

* Ik 5.4 2.4 0.2 0.1 0.1 0.0 1.2 2.0 1.4 1.6 1.0 0.3

X i A 6.8 2.3 0.2 0.6 0.1 0.0 3.3 1.3 0.9 1.0 0.5 0.1
w | )& 5.0 2.0 0.1 0.2 0.1 0.0 2.5 8.8 2.4 4.3 0.9 0.0
e ES 6.4 3.2 0.4 0.3 0.1 0.0 2.2 3.1 2.3 2.8 2.3 0.2

CH B 7.4 3.6 0.2 0.2 0.1 0.1 3.2 2.5 1.7 1.5 0.6 0.2
m | E # 9.2 4.1 0.6 0.3 0.2 0.0 1.3 3.2 1.5 1.6 0.7 0.2
i 6.8 3.0 0.3 0.3 0.1 0.0 2.4 3.3 1.6 2.0 0.8 0.2

T 1 8.2 4.3 0.3 0.5 0.1 0.2 2.0 3.3 2.2 1.9 1.4 0.4

| KR iy 8.3 2.4 0.1 0.6 0.1 0.0 4.0 5.4 1.4 2.8 0.8 0.0
fif 7= JI 6.3 3.1 0.1 0.4 0.1 0.0 2.1 12.5 1.9 4.6 0.8 0.1

= | Al 7.4 3.8 0.2 0.1 0.1 0.0 2.4 4.6 1.3 1.0 0.3 0.2
H 8.1 2.6 0.1 0.5 0.1 0.0 3.7 6.2 1.5 3.0 0.8 0.1

w i 6.2 2.6 0.3 0.2 0.1 0.0 2.1 1.6 0.9 1.0 0.7 0.2

& 4 ) 9.1 3.9 0.5 0.4 0.2 0.0 4.9 8.3 0.8 1.3 0.3 0.1
Rt Fid 5.2 2.4 0.1 0.4 0.1 0.0 1.9 6.0 1.9 2.7 1.3 0.2
H 8.3 3.6 0.4 0.3 0.2 0.0 4.3 7.3 0.9 1.4 0.5 0.1




153 B 6.9 3.7 0.1 0.4 0.2 0.1 2.0 3.0 1.4 2.1 0.9 0.8

# (i fi] 8.0 4.5 0.3 0.3 0.2 0.0 3.0 6.4 2.9 2.8 2.1 0.3
L A1 7.1 2.3 0.2 0.3 0.1 0.1 3.6 6.3 1.2 2.0 1.2 0.2
= = i 6.8 2.3 0.1 0.5 0.1 0.0 2.8 8.3 2.7 2.2 1.1 0.2
G 7.2 2.7 0.2 0.3 0.1 0.1 3.4 6.3 1.5 2.1 1.3 0.2

A3 = X X X X X X X X X X X X
iy B 5.7 3.4 0.2 0.1 0.2 0.0 1.5 4.1 2.5 3.3 2.1 0.7
K x 553 7.1 1.5 0.2 0.6 0.1 0.2 4.6 11.2 2.1 3.2 1.4 0.0
i JHE 6.9 2.9 0.2 0.3 0.2 0.0 2.1 3.8 2.5 2.8 2.0 0.3
| = B 5.6 3.3 0.2 0.2 0.2 0.0 1.5 2.9 1.5 1.9 1.3 0.2
fn 7 1 6.4 3.5 0.0 0.3 0.1 0.0 1.9 1.5 1.3 0.9 0.4 0.4

2 X X X X X X X X X X X X

5 Jijd 7.4 4.2 0.3 0.4 0.2 0.1 1.7 2.5 1.6 1.1 0.3 0.6
S = Ui 10.1 5.0 0.2 0.8 0.2 0.1 2.9 1.2 0.6 0.9 0.3 0.4
fi] i 7.4 3.4 0.4 0.4 0.1 0.1 3.8 8.9 0.8 2.8 0.1 0.1
UN L= 5.8 2.8 0.1 0.2 0.1 0.0 1.6 3.3 2.5 1.7 1.2 0.3

& i 5 6.9 3.5 0.3 0.4 0.1 0.0 2.8 8.5 1.5 2.6 0.6 0.2
G 7.0 3.4 0.3 0.4 0.1 0.1 2.6 5.9 1.6 2.1 0.6 0.3

il = 7.9 3.9 0.2 0.4 0.1 0.0 3.0 1.0 0.6 1.1 0.5 0.4

&\ & JII 5.5 2.8 0.1 0.2 0.1 0.2 1.3 3.6 1.6 2.6 1.0 0.3
g % 5.4 3.4 0.2 0.2 0.2 0.0 1.1 1.8 0.8 1.4 0.8 0.3
A gl 9.6 2.8 0.4 0.5 0.1 0.1 4.3 0.5 0.1 0.3 0.0 0.2
G 8.7 2.9 0.3 0.4 0.1 0.1 3.7 1.0 0.4 0.7 0.2 0.2

R fi] 6.0 2.6 0.2 0.3 0.2 0.0 2.2 5.8 0.9 2.6 0.3 0.2
B o 5.6 3.6 0.3 0.2 0.1 0.1 1.2 2.5 2.1 1.4 0.8 0.2
moLE 5 7.4 4.9 0.3 0.3 0.2 0.0 3.4 5.6 1.9 3.0 0.9 0.2
G 6.1 3.0 0.3 0.3 0.2 0.0 2.2 5.4 1.1 2.5 0.4 0.2

il N 6.5 3.1 0.2 0.5 0.2 0.3 1.5 1.5 0.7 1.8 0.5 0.4
e | K 53 7.5 4.5 0.2 0.5 0.2 0.0 2.0 3.2 2.3 0.7 0.3 0.1
=} B 7.0 4.2 0.2 0.2 0.2 0.0 1.4 1.2 0.7 0.9 0.2 0.2
Al 1B = 7.9 3.7 0.4 0.2 0.2 0.1 2.4 2.2 1.3 1.1 0.4 0.2
i 7.3 3.7 0.2 0.3 0.2 0.1 1.9 2.0 1.1 1.3 0.4 0.2

4 N | 7.6 2.7 0.2 0.5 0.1 0.1 3.3 6.2 1.4 2.4 0.8 0.1
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= ; . _ e , ‘B -HEEBIANSERD
S I BT oo e g | EE ST s g g | B A 2 ERE b
Ul . - g6 b 4 A | e R A&
L ] A % % % % % % % M TM M
L R R | 4.54 12.0 392.6 216.0 77.5 55.5 941.2 43.3 9.6 104,477 A\4,631 3,975
#H F 4.77 12.2 190.2 102.7 102.1 72.7 618.8 26.9 13.9 121,560 [ A14,008 5,616
= + 5.30 11.7 259.3 147.0 81.0 57.1 488.9 51.1 17.0 95,627 2,686 5,735
] 7 4.64 6.9 155.3 135.9 89.2 56.6 277.4 26.2 26.5 218,838 6,512 10,750
k HH 6.79 9.7 107.3 101.7 99.2 75.1 174.6 20.6 36.4 112,783 A\4,263 5,434
4 | W Z 5.08 12.0 101.3 74.0 131.3 89.7 180.6 25.5 35.6 109,905 A1,228 4,516
& = 4.61 10.3 101.2 98.1 108.2 75.9 160.3 1.7 38.4 201,163 |  A23,779 6,420
g 4.73 8.7 138.7 119.6 95.4 63.4 254.6 21.3 28.2 180,247 | A10,544 8,112
* e 3.84 10.2 125.4 70.3 122.8 86.6 330.6 35.9 23.2 177,575 279 6,434
B s PN 4.20 11.3 290.5 204.4 90.7 58.9 1,465.2 10.1 6.4 253,206 907 7,843
4 | B 5 5.02 8.8 69.1 67.2 127.8 81.0 180.5 6.2 35.6 233,131 | A10,175 5,841
B ES 5.80 14.9 178.9 87.1 122.7 72.4 320.2 40.5 23.8 114,956 316 5,564
CH B 4.10 12.1 100.9 82.5 113.4 78.8 230.5 16.4 30.3 116,122 A814 5,484
m L& g 6.38 8.3 172.8 132.7 86.8 60.2 249.9 24.3 28.6 101,777 A1,374 5,693
g 4.57 10.6 125.9 92.8 107.7 72.6 301.0 20.5 24.9 147,171 A1,658 5,963
I # 4.87 11.7 251.6 100.3 106.3 61.6 556.3 49.0 15.2 70,936 852 4,122
WK piy 4.33 6.8 164.5 146.2 96.1 73.7 655.2 8.9 13.2 380,232 /\8,538 13,741
o & 6.11 8.6 755.3 396.1 78.7 51.5 2,027.8 23.7 4.7 263,994 | A23,405 7,481
| Al 3.93 11.8 378.7 102.2 101.3 70.9 1,541.2 32.9 6.1 116,642 A\4,146 5,370
g 4.50 7.1 192.2 158.7 94.4 71.1 712.2 11.7 12.3 326,074 A9,931 11,652
w i 4.77 12.2 149.4 106.8 97.4 58.1 307.5 40.5 24.5 146,880 AT91 5,110
| 5 ) 4.83 8.1 150.5 137.1 93.8 70.5 305.0 18.9 24.7 109,506 AT,749 5,326
g pis 4.86 6.7 288.4 86.5 107.2 79.4 1,262.9 31.4 7.3 167,764 /5,550 5,247
g 4.83 8.5 154.1 128.5 95.5 69.8 331.3 22.8 23.2 117,517 6,899 5,299




1573 B 4.77 10.9 518.9 201.2 77.9 55.6 1,277.0 54.7 7.3 100,451 1,006 5,190

% # [if] 4.94 11.1 198.1 147.3 78.1 56.6 300.9 40.9 24.9 99,546 A\3,540 5,747
Lol Hn 5.93 6.4 281.1 161.8 79.9 63.2 554.1 29.5 15.3 203,926 ANT7,967 7,240
e = i 3.64 14.0 VAN A gk 477.0 81.6 55.4 VAN A gk 35.9 AN5.3 158,134 N9,817 5,048
7 5.51 7.7 283.8 164.7 79.6 61.0 569.4 33.4 14.9 168,469 /\6,425 6,581

A3 = X X X X X X X X X X X X
i s 3.12 14.3 420.0 72.8 122.9 61.1 1,501.7 57.9 6.2 123,675 N922 5,592

X [ 5.47 6.6 134.8 118.6 95.4 71.6 297.1 12.7 25.2 395,876 /28,166 12,720
% JiE 4.16 12.4 140.0 82.5 118.1 72.4 309.3 36.7 24.4 178,393 A1,125 7,745

I = B 5.61 10.2 1,737.9 462.6 73.7 50.5 4,737.2 57.0 2.1 135,580 N1,222 5,765
fn 7 il 4.06 12.9 302.2 76.4 115.6 77.8 929.6 43.9 9.7 108,208 A608 4,722

E X X X X X X X X X X X X

= I 3.90 15.3 555.6 114.5 97.8 68.2 1,358.3 57.4 6.9 77,924 A1,348 4,244
IS = R 3.68 25.6 235.5 76.1 117.0 75.6 723.4 39.8 12.1 56,463 N420 3,432
fif] 18] 5.27 10.7 199.3 118.5 98.4 70.7 332.1 21.7 23.1 78,170 /5,383 2,959
JA = 4.04 11.8 225.1 105.5 100.1 73.5 742.1 35.2 11.9 148,231 N2,137 5,506

& 18] H 4.47 9.8 250.0 139.3 91.2 66.1 722.1 42.3 12.2 104,840 6,234 4,773
§ 4.37 12.2 236.4 113.9 98.3 70.5 595.2 36.1 14.4 96,056 AN\3,852 4,119

& = 4.74 11.8 494.0 139.6 90.2 49.1 1,666.0 53.1 5.7 120,583 ANT2 5,668

& & JI 3.11 12.3 97.7 59.3 126.0 101.8 342.3 37.4 22.6 174,236 A1,019 6,844
= % 4.68 13.7 219.1 132.5 85.6 61.4 395.9 43.9 20.2 109,749 N227 5,008
L/ =4 yall 5.48 10.3 569.5 181.9 84.1 54.5 1,211.6 20.6 7.6 207,234 596 9,316
7 4.90 10.9 362.0 148.6 90.7 61.9 815.7 26.2 10.9 185,884 232 8,242

4 & [if] 4.90 7.6 184.8 131.0 92.3 67.2 354.1 27.9 22.0 217,344 \6,644 7,911
= e B 4.58 13.3 211.2 108.9 98.4 58.9 663.3 38.5 13.1 130,699 AN1,284 5,877
[l & far 5.43 10.2 152.6 135.8 82.4 60.9 192.4 32.2 34.2 100,103 N2,667 5,811
i 4.92 8.4 180.3 130.2 91.8 65.7 339.9 29.3 22.7 182,847 Ab5,151 7,228

Jig VN 4.34 11.2 643.5 155.7 89.2 61.4 2,009.3 37.2 4.7 122,469 A621 4,210
e | KX N 4.30 14.8 89.4 81.0 113.7 64.0 253.4 26.9 28.3 104,255 N2,158 6,147
= far 5.14 10.6 102.3 88.8 117.4 85.6 122.0 20.5 45.1 105,160 A275 5,191
ZNE V) = 4.58 11.6 136.0 100.8 105.9 74.3 238.7 27.6 29.5 109,225 133 6,449
E 4.52 11.8 150.4 105.4 101.9 69.1 316.8 29.4 24.0 111,694 A501 5,579

2 NI ) 4.68 8.3 184.6 135.5 93.8 68.1 487.0 20.3 17.0 211,835 NT7,323 8,148
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FERE TR (IEEEE)

5 \ \ oA @ x| mE EEma| e £om o x| WY s — bl
mitne | ok ow | % R K R e S R Y IS B |Gl S — 1) (Y = — 1)

Al U= b YR = bR Y R = bk |- @ERYR—b
#L EpE| EpL| EpaE % % % "M £
| b W B 383,848 5,162 2,950 6.1 1.6 1.2 A2,213 2
#H * 98,342 2,084 361 11.9 0.6 0.6 A1,723 —
=] +F 25,628 746 170 3.7 0.7 0.7 AB576 —
R Ik 486,039 3,387 482 4.2 0.5 0.2 2,905 2
7o M 24,023 1,005 25 4.3 0.1 0.1 A980 —
& | W Z 32,312 550 262 2.0 0.9 0.8 A\288 3
= =) 187,484 2,101 265 12.6 0.3 0.6 A1,835 1
i 853,828 9,873 1,566 6.9 0.5 0.4 A\8,307 6
* Ik 95,180 1,359 972 1.5 1.6 1.0 A\387 2
4 i VN 104,068 964 522 0.9 0.9 0.5 A443 2
o | B )53 89,289 2,123 819 8.3 1.4 1.5 A1,303 —
2 ES 34,142 802 791 2.6 2.5 2.4 A10 5
CHE ) 144,223 2,459 863 2.2 1.1 1.0 A1,595 12
L& g 100,149 1,479 660 2.5 1.6 0.8 A819 —
G 567,051 9,186 4,628 2.9 1.4 1.1 4,558 21
T+ 1 87,960 1,908 1,188 2.9 1.7 1.4 AT20 8
i Iy 3,482,164 50,008 28,329 4.8 1.9 2.4 A21,678 12
o= ) 503,700 9,699 4,263 10.9 1.9 3.4 5,436 7
oo £ 34,059 433 86 4.4 0.4 0.6 A347 2
i 4,107,883 62,048 33,866 5.6 1.9 2.5 28,182 29
=1 N 25,998 243 175 1.4 0.8 0.7 68 3
| H JI 162,397 1,244 541 8.9 1.0 1.2 AT03 2
= F: 22,313 431 288 5.1 1.6 1.7 A143 1
i 210,707 1,919 1,004 7.5 1.0 1.2 A915 6




153 B 35,359 507 311 2.2 1.1 1.0 A195 6

# (i fi] 70,976 2,064 1,497 5.9 2.6 2.4 567 9
L gl 432,527 5,315 5,188 5.4 2.5 1.4 A127 7
= = H 32,418 876 370 8.0 1.5 1.8 A506 3
g 571,280 8,762 7,367 5.4 2.3 1.5 A1,395 25

AR = X X X X X X X X
jry #h 33,516 832 709 3.2 2.3 2.4 A123 3

S 53 807,192 17,236 11,300 10.9 2.6 3.0 5,937 12
ft JHE: 100,613 2,499 1,978 2.9 2.2 2.1 AB520 13

| = B 9,355 142 126 1.6 1.4 1.4 A16 2
fn 7 ] 13,959 188 56 1.4 0.5 0.4 A132 —

2 X X X X X X X X

)= H 21,273 344 66 1.9 0.3 0.3 A278 —
= = Gitg 19,084 109 51 0.7 0.4 0.4 A59 2
fi] i 63,318 525 80 7.2 0.2 0.9 A444 2
JE B 77,525 1,906 944 2.8 1.5 1.2 A961 5

& i 5 66,049 967 366 7.5 0.8 2.2 A601 2
g 247,249 3,851 1,508 5.0 0.9 1.3 A2,342 11

1l = 20,137 120 93 0.7 0.7 0.5 A27 —

| & JII 65,513 1,077 686 2.6 2.0 1.1 A392 1
=% o3 34,132 286 269 1.3 0.9 0.8 ANE 4
A gl 378,202 269 100 0.1 0.1 0.0 A168 2
g 497,984 1,753 1,148 0.6 0.7 0.2 605 7

R fi] 319,061 2,776 1,067 5.7 0.7 1.1 AL,710 6
o e = 38,164 805 314 2.3 0.9 0.8 A491 1
wmo[LE = 42,844 814 388 3.2 1.1 1.0 A426 2
g 400,069 4,395 1,769 5.1 0.8 1.1 A2,627 9

il N 73,726 506 359 0.8 0.6 0.5 A148 6
e | K ol 34,091 776 110 2.5 0.4 0.3 /\666 1
= B 30,917 210 66 0.8 0.2 0.2 A145 1
Z N I O = 94,370 1,183 411 1.7 0.6 0.4 ATT3 2
7t 233,105 2,676 945 1.4 0.5 0.4 A1,731 10

woE () 9,067,602 131,358 71,362 5.6 1.6 1.8 /59,996 156




4 —7—(5)

FERESPLE (E—LH)

bUN i b2 =3 =x
; b 3 R U % g - ME E i MJL \L K S E ————— R BV S i
A1 B R e | B R e |5 K| somger [0 2k 5| 10 EE B \C—VEISE SEIGINEISE [ g ok |06 B EA | LA
R R R A ANz Y Mt P [EARE S [l nk v SIE AR

AL % % % % % % % % % % = % %
B | b W A A0.8 0.2 A3.9 1.0 A0.3 0.1 9.2 4.6 3.9 3.3 2.36 19.0 9.8
H Pus 0.5 2.1 5.1 23.2 0.3 1.5 9.2 6.6 5.3 4.1 1.35 32.9 13.4

e T+ N0.5 0.4 A6.1 4.6 A0.3 0.2 9.2 4.8 4.7 4.5 1.56 44.3 15.0

il TéT ﬁ X X X X X X X X X X X X X
% a5} 1.2 2.9 1.8 4.6 0.4 1.0 3.7 4.4 4.2 4.8 3.04 5.0 0.7

4 | W v - — - — - — - — — — — — —
& B A3.1 AN0.2 | A104.4 A8.4 A2.1 A0.2 6.5 5.7 2.5 3.5 1.49 53.3 7.4

2 X X X X X X X X X X X X X

* Ik A3.2 2.8 A44.6 38.8 Al5 1.3 9.2 6.0 5.1 4.6 2.17 46.0 12.2

B s A 1.0 AO0.1 11.4 Al5 0.7 AO0.1 11.5 5.5 6.1 4.1 1.50 48.4 6.1
w| B s A1.9 8.7 6.7 30.7 A2.0 9.4 14.4 11.6 11.5 2.2 0.93 14.0 0.9
i%} +* X X X X X X X X X X X X X

5| w B Al.1 A1.2 A1.9 A2.1 Al.2 Al3 16.3 7.0 7.0 13.4 0.92 28.9 5.4
m L& g A2.4 0.0 A12.8 0.1 0.9 0.0 9.9 5.7 5.4 5.5 2.62 24.7 11.1
B X X X X X X X X X X X X X

I 1 - — — — - — — — — — — — —

L " 2.4 3.5 10.5 15.6 0.8 1.2 7.0 7.5 8.5 8.0 2.99 6.1 2.1
e = I — — — — — — — — — — — — —

= | W £ — — — — — — — — — — — — —
B 2.4 3.5 10.5 15.6 0.8 1.2 7.0 7.5 8.5 8.0 2.99 6.1 2.1

Eéj 1L X X X X X X X X X X X X X

B g il - - - - - - - - - - - - -
R e H X X X X X X X X X X X X X
2t X X X X X X X X X X X X X

(J5) A XIS R AT ADT=OEE THERTERNED THD,




H& E X X X X X X X X X X X X X

# ﬁ [if] X X X X X X X X X X X X X
G 0 X X X X X X X X X X X X X
= = 0 X X X X X X X X X X X X X
G N3.6 Al.l A51.9 A16.3 A3.0 A1.0 9.0 6.1 8.2 6.6 1.18 42.1 19.0

A (o AN A2.4 NT.0 A10.1 A1.3 A1.8 21.7 5.6 5.9 4.3 1.34 29.2 7.3
iy # 1.6 0.0 7.5 A0.1 2.3 0.0 18.1 6.4 8.8 10.4 0.71 26.4 6.5
S AN bz Al.4 AL8 A40.9 A53.9 Al.4 AL8 19.8 13.0 8.2 5.3 0.96 17.6 2.7
I e 2.2 1.5 Ak | Aok 1.1 0.8 16.7 4.8 4.3 7.2 2.05 7.6 2.9
S B A2.1 AN0.7 Al1.5 A4.0 N2.0 N0.7 15.8 4.2 4.3 4.3 1.03 29.3 7.7
o w3 i 6.9 5.4 24.2 18.7 4.1 3.1 14.8 6.5 5.8 6.1 1.71 39.1 14.1

G 2.6 1.6 16.9 10.5 1.7 1.1 16.9 6.2 5.9 6.1 1.53 24.9 8.2

% e X X X X X X X X X X X X X
= = G Al.1 AT A24.7 A38.4 AN0.9 Al.4 17.8 6.5 6.5 9.1 1.17 43.5 13.6
lif] I A11.2 A2.2 Ak Ao A11.5 N2.2 12.3 10.2 11.2 8.9 0.97 42.3 25.0

I = AN2.5 A2.1 A347.7  A290.9 N2.0 AT 12.1 7.6 7.3 6.3 1.24 36.0 10.4

& i 5] N2.7 A2.5 | Aves | Ade N2.1 A2.0 8.7 2.1 4.5 3.1 1.26 43.1 18.7
2 X X X X X X X X X X X X X

i ,% X X X X X X X X X X X X X

‘,%] = ] X X X X X X X X X X X X X
g 1% A1.8 N0.6 Al12.1 A4.2 N0.8 AN0.3 6.2 5.2 5.0 4.6 2.23 38.2 24.5
"l Hn X X X X X X X X X X X X X
E A3.1 AT A22.8 N12.3 Al.4 AN0.8 6.5 5.4 5.4 4.5 2.12 38.5 23.9

R fi] 0.2 1.3 0.8 6.7 0.0 0.4 6.1 4.0 3.0 2.8 3.42 6.4 5.2
B = X X X X X X X X X X X X X
moLE 53 — — — — — — — — — — — — —
E X X X X X X X X X X X X X

fg A A8.1 A36| ATI2.6| A313.8 N2.3 A1.0 3.0 1.9 0.7 2.6 3.49 37.5 15.1
| K oo 4.6 3.1 Ade e | Adek 2.9 2.0 11.7 3.4 5.2 5.5 1.58 42.5 10.6
= I — — — — — — — — — — — — —
AlE R = 1.2 0.7 Aves| A 0.2 0.1 5.6 0.8 1.0 1.0 5.08 60.0 8.0
Gl 0.9 0.9 Avedr| Avek 0.3 0.3 6.3 1.5 1.6 2.3 3.41 52.7 9.8

4 ooty 1.0 1.4 4.5 6.3 0.5 0.7 9.2 5.6 6.4 5.3 2.10 17.2 6.8

()

AV FATD BN~ AT ADIZD B TRRTERVEDTHD,




4 —7—(6)

FERE SR (B —/LE)

J5s \ — iy B N B A &
H I 3 = 3

g | PR e | g RN PN R R L S L R iR
L % % % % % % % % % % % %
L A R 9.6 4.7 0.2 0.5 0.2 0.0 2.5 1.0 0.0 0.6 0.0 0.1
#H * 8.9 3.9 0.1 0.2 0.8 0.1 2.8 3.1 — 1.9 — 1.5
Fe) T 9.6 5.1 0.2 0.3 0.3 0.0 1.9 2.0 0.0 1.4 0.0 1.4
fil = % X X X X X X X X X X X X
% M 3.3 1.8 0.3 0.1 0.6 0.0 0.2 1.0 0.0 0.4 0.0 0.1
4 | W Z — — — — — — — — — — — —
& = 8.6 4.2 0.5 0.1 0.4 0.1 0.5 3.3 1.5 1.4 0.5 0.8
Z X X X X X X X X X X X X
* 7 10.6 5.7 0.4 0.2 0.1 0.2 1.7 4.8 0.8 2.1 — 0.7
X i VN 10.8 6.5 0.3 0.0 0.7 0.2 2.9 2.4 0.3 3.1 1.5 1.3
w| A )& 16.4 9.5 0.8 0.5 0.5 0.3 7.3 12.9 1.8 1.5 0.1 1.3
By G X X X X X X X X X X X X
CH B 17.4 9.6 0.4 0.4 0.8 0.6 3.4 2.9 0.6 3.0 0.7 1.1
m | E g 10.8 5.7 0.4 0.7 0.3 0.2 2.0 3.0 0.5 2.1 0.8 0.5
B X X X X X X X X X X X X
I 3 — — — — — — — — — — — —
| KR iy 6.2 2.6 0.1 0.2 0.1 0.1 1.8 1.1 0.2 0.7 0.2 0.2
W& — — — — — — — — — — — —
= | il — — — — — — — — — — — —
H 6.2 2.6 0.1 0.2 0.1 0.1 1.8 1.1 0.2 0.7 0.2 0.2

= 1 X X X
& g il - - - - - - - - - - - -
R 15 +H X X X X X X X X X X X X
B X X X X X X X X X X X X




IRz B X X X X X X X X X X X X

Z‘ i3 fif] X X X X X X X X X X X X
ER 41 X X X X X X X X X X X X
& = H X X X X X X X X X X X X
i 12.0 6.9 0.4 0.4 0.7 0.1 4.5 4.0 2.2 1.9 0.5 1.3

%k = 23.0 9.9 1.0 1.8 1.0 1.1 3.1 1.4 0.3 2.0 0.1 0.8
jiy #B 15.8 5.8 0.2 0.7 0.7 0.8 5.0 4.6 0.6 6.9 0.3 2.5
X 3 21.2 12.1 1.1 1.0 0.6 0.1 1.3 1.7 0.8 2.2 0.2 0.9
Eas J#E 15.6 7.0 0.4 0.5 0.7 0.2 2.2 1.3 0.1 1.6 0.0 1.4
3 75 B 17.8 8.5 0.4 0.2 4.5 0.2 1.0 4.2 0.0 2.9 0.1 1.5
1 K L 10.7 5.1 0.3 0.3 0.2 1.0 1.8 1.7 0.8 2.7 1.8 0.5

E 15.2 6.8 0.4 0.7 0.7 0.7 2.3 1.8 0.5 2.4 0.7 1.0

=1 HY X X X X X X X X X X X X
I = R 18.7 10.6 0.4 0.3 0.8 0.8 6.9 1.7 0.3 2.2 0.4 1.7
fid] H 23.8 9.9 2.4 0.8 2.3 0.2 2.8 16.2 0.0 6.9 0.0 2.4
Ji = 14.1 7.3 0.6 1.0 0.7 0.2 3.2 2.8 0.5 2.5 0.9 1.5

& 18] H 10.8 5.4 0.5 0.2 0.7 0.5 1.0 3.1 0.3 3.0 0.1 2.1
2 X X X X X X X X X X X X

i = X X X X X X X X X X X X

= F ) X X X X X X X X X X X X
%= 53 7.0 4.2 0.2 0.2 0.3 0.0 2.0 4.4 0.6 3.9 0.5 0.8
L/ = 1 X X X X X X X X X X X X
i 7.9 4.8 0.2 0.3 0.3 0.0 2.1 4.1 0.5 3.4 0.4 0.8

& [if] 6.1 1.8 0.2 0.3 0.1 0.0 3.2 0.9 0.1 0.6 0.0 0.1

fi L = X X X X X X X X X X X X
moLE Ry — — — — — — — — — — — —
3 X X X X X X X X X X X X

i %N 5.4 2.6 0.3 0.2 0.6 0.0 1.6 1.9 1.0 0.6 0.2 0.3
fig KX 5 8.8 5.8 0.2 0.1 0.5 0.2 0.9 1.5 0.1 2.5 0.1 2.1
= Ry — — — — — — — — — — — —
AlE B 5 5.4 1.5 0.2 0.1 0.4 0.1 0.1 0.2 0.0 0.3 — 0.3
it 6.0 2.5 0.2 0.1 0.4 0.1 0.5 0.7 0.2 0.8 0.0 0.6

2 ooy 8.7 3.9 0.3 0.4 0.3 0.2 2.2 1.7 0.3 1.5 0.4 0.5




4—7—(7) FERESHHE (E—/EH)
= . ; BB EEBIANSTD
P o ol s 1 1 % Akl o
Gl g o ka0
fL A % % TH TH
| b W 17.2 391.1 20.4 89,029 A297
#H P 14.2 1,029.8 8.9 45,845 154
et T+ 36.5 1,080.5 8.5 49,022 A161
il = Ik X X X X X
k M 2.1 58.7 63.0 169,796 646
4 | W Z - — — — —
& = 19.4 3,294.7 2.9 42,945 /\886
2 X X X X X
/3 W 10.5 1,288.8 7.2 49,987 AT41
B PN 21.0 1,025.2 8.9 41,944 283
4 | B 5 37.1 251.6 28.4 40,539 A\823
B ES X X X X X
CH B 34.9 76.3 56.7| 26,353 A307
w L& e 11.0 433.2 18.8 73,188 669
7 X X X X X
I £ - - - - -
| KR iy 5.8 342.2 22.6 | 215,028 1,710
e &= - — — — —
A Al — — — — —
& 5.8 342.2 22.6 | 215,028 1,710
=1 il X X X X X
&5 Ji - - - - -
& Bis X X X X X
G X X X X X




IRz B X X X X X X X X X X X X

Z‘ i3 fif] X X X X X X X X X X X X
ER 1 X X X X X X X X X X X X
= = H X X X X X X X X X X X X
i 2.21 48.9 667.7 99.4 105.0 56.5 1,340.4 80.7 6.9 33,878 1,030 2,953

%k = 2.94 36.0 223.1 102.1 107.4 55.5 311.7 51.9 24.3 38,681 A\489 4,943

i s 1.28 11.5 206.8 74.4 143.3 58.0 368.9 64.7 21.3 37,545 847 3,703

S [ 3.01 30.1 2,054.0 103.6 96.7 38.3 2,922.3 74.1 3.3 26,082 A\ 366 3,603
pas JE 3.47 10.6 JADAgh e 90.8 109.3 75.5 JADAgh e 82.2 AN\8.9 44,922 473 4,823

I = B 1.59 29.4 196.4 51.3 205.8 74.8 459.6 67.4 17.9 25,209 A503 3,652
fn 7 il 2.39 18.3 99.7 63.2 138.3 95.8 249.1 41.6 28.6 51,480 2,094 4,887

E 2.57 18.5 259.9 80.3 126.1 76.6 541.6 59.7 15.6 43,383 749 4,661

== HX X X X X X X X X X X X X
IS = R 1.85 60.8 835.0 59.7 165.0 83.7 2,180.0 85.7 4.4 21,125 A 196 2,614
[if] H 1.99 36.2 JADAgh e 115.8 87.6 67.2 JARAgh e 102.0 N9.8 11,958 N1,372 1,860
JA = 1.88 37.9 4,680.1 38.9 479.6 133.8 13,859.2 89.5 0.7 36,654 AT35 3,451

& 18] H 4.61 20.9 JADAgh e 208.2 42.1 21.1 JARAgh e 89.5 JAYR! 46,603 AN993 3,209
2 X X X X X X X X X X X X

i = X X X X X X X X X X X X

= F | X X X X X X X X X X X X
%= 53 3.81 13.9 280.4 136.6 84.0 47.4 576.5 60.8 14.8 68,788 549 3,796
L/ = 1 X X X X X X X X X X X X
7 3.65 14.7 309.6 135.1 85.8 48.7 641.0 58.9 13.5 58,368 A\846 3,264

4 & [if] 4.98 10.4 159.0 119.4 93.2 65.9 410.1 18.2 19.6 192,153 86 5,621
o = X X X X X X X X X X X X
moLE Ry — — — — — — — — — — — —
3 X X X X X X X X X X X X

HE VN 8.23 10.6 5,047.9 234.8 56.2 39.0 8,663.8 45.9 1.1 68,007 A1,585 2,067
fig x g 2.96 62.5 JADAgh e 112.7 97.2 34.7 JADAgh e 94.3 AN1T.1 39,956 1,171 4,259
=4 Ry — — — — — — — — — — — —
AlE B OB 8.97 3.1 A Y 691.5 60.7 54.0 A ¥ 64.3 A8.1 276,412 659 6,993
i 6.47 14.8 VAN A gk 201.6 70.4 45.7 VANA gk 72.8 A10.0 104,378 267 4,290

S NI ) 3.47 17.4 171.7 94.4 109.2 74.4 338.1 40.5 22.8 85,854 423 5,220




4—7—(8) FERESHHE (—/VH)
& - : foA @ ox | m g b b oo | WY~ — b o®
BN Ryl e ko gﬁ o EE( {? _ % = Bl X X BB RBYVR—P|(ZHY R~ —})
Al U= b YR — bYA= bk |- EZRUR—D [ @ERYR—b
L EpE| EpL| EpaE % % % "M £
L I T | 29,558 1 2 0.4 0.0 0.0 1 2
#H * 2,751 — — — — — — —
=] F 1,863 1 0 0.2 0.0 0.0 Al —
il =Y bk X X X X X X X X
7oA H 17,998 5 1 0.0 0.0 0.0 A5 —
& | W Z — — — — — — — -
= =) 988 15 5 2.0 0.6 0.5 A10 1
B X X X X X X X X
* Ik 2,499 20 — 0.9 — 0.0 A20 —
B PN 1,091 3 16 0.5 2.0 1.5 13 3
o | B )3 1,419 25 2 2.3 0.1 0.1 A24 1
i ES X X X X X X X X
& B ] 6,035 37 39 1.0 1.3 0.9 2 6
L& g 24,298 123 204 2.1 1.8 1.2 81 3
F3 X X X X X X X X
T+ £ - — - — - - — -
W[ R o 79,345 135 182 0.5 1.9 0.4 46 4
o= ) — — — — — — — -
[ 5 - - - - - - — -
7 79,345 135 182 0.5 1.9 0.4 46 4
=] 1L X X X X X X X X
T s )i — - - - -
& JI: X X X X X X X X
z X X X X X X X X




IRz B X X X X X X X X

& e [¥] X X X X X X X X
L gl X X X X X X X X
B = ®H X X X X X X X X
G 1,660 37 8 2.7 0.6 0.5 A29 1

i3 = 5,609 17 4 0.6 0.1 0.1 Al13 3
iy # 2,253 13 7 1.0 0.6 1.2 N6 —

S 53 991 8 2 1.0 0.3 0.6 A5 1
ft JHE: 12,219 17 5 0.3 0.2 0.0 Al3 2

| = B 1,134 0 1 0.0 0.1 0.1 0 1
o @ W 13,282 106 241 1.5 2.7 2.0 135 2

G 35,488 161 259 0.8 1.5 0.9 98 9

=1 B X X X X X X X X

I = Giks 1,246 4 1.2 0.7 0.4 2 3
fi] L 179 0 0.7 0.0 0.0 0 1
JE L= 2,053 11 19 0.6 1.1 0.9 8 2

& i 5 3,588 10 5 0.4 0.2 0.1 A5 1
2 X X X X X X X X

st = X X X X X X X X

A = | X X X X X X X X
g 53 7,911 46 40 0.7 0.6 0.6 A6 2

[/ = 1 X X X X X X X X
G 9,280 48 41 0.7 0.5 0.5 AT 3

& fi] 59,567 42 17 0.5 0.1 0.0 A25 1

i S = X X X X X X X X
il & By — — — — — — — —
7 X X X X X X X X

il N 1,292 13 2 1.4 0.2 0.2 A1l —

e | K ol 1,279 2 1 0.2 0.1 0.1 Al 1
=S = — — — — — — — -
Al B OB 4,423 0 — 0.0 — — A0 —
7t 6,993 15 3 0.3 0.1 0.1 A12 1

woE () 303,579 760 1,316 0.7 1.3 0.5 556 45




